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Rather is it not when she was - 329K 79 5997 WD SR TRWTOPT XD KON
Mekadaysh herself, and we call her an Almonoh

Overview

8111177 21 asked a question on X7 from a Xn12 which states that one is permitted to
sell his daughter who was an 711X to a "1 (or a 7wIIA to a V1T 172). The X ma
inferred that it must be in a case where she was w7pn herself (as a 71vp), and she is
called an n129x; indicating that the w17 are valid. n190I1n explains why the question
is only on X7 and not on 2Xww (1 27).
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It is evident from this Xn»92 that a AR NYTH KOW AWIPNIW 710pP requires cither wa
or 1N, for otherwise (if there is no need for v or 13X*1) the Xn>72 would not have

called this 7107 an 79N -
= 19998 R 1IN 199N 9INT NDIWY NYD)

So there is a difficulty for X772 who maintains that a 728 nV7% X5W nwIPNIY 7I0P,
does not require even IR (so how can we have an 71up 719X sold as an 7aX)?

nvoIN asks:
- 339N 1Y 5P 59N 219TPWYI 99 53WN XY ININ VINN ON)

And if you will say; why does not the X3 answer, that the Xn»92 is discussing a
case of 107w, therefore she is called an 7an5>R?!

MDDIN answers:
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And one can say that since there was a 7w, it is just as if the father was wp»
her to this person, therefore the question of the X3 initially returns ‘to its place’;

if the father was wipn her -
= MYIN 9NN MNAYY 1N NN 999 DN PPN NI AY 1220 2819 1))

' An m1n%R means a woman who was married to someone and became widowed. However, if this 7197 can dissolve
the marriage without either receiving a v or being 1Xn7n, she was never married to him (even if she was not 1Xn») to
be considered an 77X if he dies.

2 mpoIn maintained previously (187 71"7 2,7n) that all agree that by 197w we require 1wm) v, [However, >"w there
disagrees (according to the 7"X) and maintains that X7 argues even by 127w that nothing is required.]

3 She can rightfully be considered an 71m2%, for if she would want to leave him while he was alive, there would be a
requirement for 1% V3. See beginning of NoOIN and footnote # 1.

4 The reason we are strict by 77w and require 1R 03 (according to everyone as M50 maintains) is because we are
concerned that perhaps the father is agreeable to their marriage, therefore it is like 7°aR qwTp.
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So how can he sell her (after she became an 732%X), for a person cannot sell his

daughter into slavery after she was married (and 77w is the same as the father marrying
her off) -

mooIn responds to the anticipated difficulty:?
= 5N YT DIVN NINON NY 9P 197OYW XD 1Y ¥PINT NN ININYYT NIDN YaN

However according to N1w it is satisfactory, for he will establish the X091 in

a case where 127°® X%, and she is called an ;732°X because she required 778> -
- NP NDIYH NON

However according to X7 there is a difficulty, (for 7w maintains there is never a 21
1%°n alone, so how can she be considered an 7InoX).

n1voIN asks:
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And if you will say; and from the case of the Xn»72 which permits selling a 72193

to a ¥I"777 3772, you can also ask even on PX1@ 29 who argue with X21; the question is -
- 011 1A AWV NY PNV SN

For how can we find a case of w1777 3772% 172193 by a m1vp to be sold as an ;7nX -
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If we are discussing 127°w, how can the father sell her (to a v1>7771 7712), for a person

cannot sell, etc. (his daughter mw>x X MowWY) -
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And if she was 72K ny7? ROV wpn1 without 127w, so she only requires 382, so
how does the Xn>>72 call her a mems,!! since she is not forbidden to a 3775?!

nBoIN answers:
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5 If we assume that if the 730p requires W1 L it is as if 77°aR AWT°R, so how will XMW explain the Xn>13; how can he
sell her since MW°R MR MDY 102 DX 191 K"K?!

¢ MooIn mentioned in the beginning, if in order to dissolve the marriage no 03 or X1 is required it is not a marriage
(and the 73vp cannot be called an 7117X). However if one of them (even 1R°» alone) is required to dissolve the marriage,
we can consider her an 717X, See X2R 77"'7 2,71 '0)0 where miooIn states that by 77°w X7 she requires 118°» according to
w"» 5% mw. See TIE there footnote # 3.

T1If it is 197w XY there is no requirement for 11X, so she is not an 71M9X; by 17w (where 11X 3 are required) it is
like 72 nwTp, where he cannot sell her MW X R NINdOWS.

8 See ‘Thinking it over’.

% mooin just told us that by 197°w it is as if 2R AwWTPW mM3'; where he cannot sell her afterwards.

10'See (the text by) footnote # 5.

"' This mup was IR nyT2 85w AwTpn1 without 197w, She leaves her husband with just 1%, A 71vp who left her
husband with 7%°% is not 37327 70K; it is considered as if she was never married!
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And one can say; that really it is a case of 157> X%, but we are discussing a case
where what happened was that she was not Ix%», but rather the husband

divorced the mvp -
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Where in truth she becomes invalid to marry a 37> because of that w3, just like

an orphan girl whose brothers and/or mother married her off, in which case -
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That if she was 7R, she is not 79102 for a 3113, but if that husband divorced her,

he invalidated her from 723772, and the same is by a 2R nyT> XYW TWIPNIW 7I0P -
$PNID NN S¥a NIT NOUIW INT YaN

But it is certainly obvious that she only requires 382 (both by a °nx mxwnw amn>
7R, and) by a 7728 nYT2 XYW AWIPNIw MR according to YRMAW in a case where 107w XY, therefore
there is no question from 1"775% 717X (and also no question from ©VY77 1757 W) according to
ORI

Summary
77w (where 1R Vi is required) is the equivalent of 7°ax 7w p, which will prohibit

him from selling her mnow?. HXmw will explain the case of 3"170% 71228 by 127w K
(she is called an 715X because 1% is required); the case of v1°7:7 1770% w13 is where
her husband gave her a v which invalidates her for 711772 (even though had she been
181 she would be 1% nanmn).

Thinking it over

1. mooIn asks that there is a question ‘even’ on 2R 27 from the case of 17257 7w
v 7.1 The language ‘even’ (17°9X), indicates that this question certainly applies to
X?1w. What would the question be on X9 (by 127w &%, where X2 does not require
even 1IX7)?

2. Would this m1vp (who received a v3) also require 1181, and if so how is she a w173,
since 1X°» eradicates the marriage retroactively?!!'

12 A amn mwp from her father cannot become married 7107 12 (only her father can marry her while she is a mp.
However the 0°n5n instituted that he brothers and mother can be w7pn her 112772, However she has the right to be 1xmn
as long as she is a mvp.

13 See footnote # 8.

14 See 11707 "won N # 27.
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